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o RtDEX: [t| = max{|p| | p € Pos(t)}



o X A: B#lo: X — T(F,X)
- RAcDEFE: Dom(oc) ={x € X |o(x) # z}
- 585 Dom(o) = {x1,...,xn} o(x;) =t; DE X,
o {r)y —1t1,...,7n — tn} EEL
- BERELICIERLEEDZEZ S
o(f(t1,...,tn)) = f(o(t1),...,0(tn)) (n=>0)
o Rk: WWIE C € T(F,X) (BEHUEEHLZW)
- XIRAnEDEH 2D E X, LT T, BRIIENS
BICzq,..., 2n CHDEDET B,
C = f(g(z1),z2) D& E, Cla,g(b)] = f(g(a),g(b))
- nEBHOXIRCITDOWT, Clty,..., ta] 1&.
C{ry +t1,...,Tn tn}%i'%a_o
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- Q: REOERES
- F: AEEDES
- Qf (C Q) : BRRKEDES
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® WIJ : A — ({qa7QQ7Qf}7 {a'ag()a f() )}7 A) {qf})
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a — qa, 9(qa) — 49, 9(q9) — a9, f(qg,q9) — qy
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o ANERHT HEE .
L(A) ={t|[t—3 g€ F}
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o Bl - A= ({q,99,97},{a, 90, F()}, A, {qr})
a—q, 9(q) — q, 9(q) — qg,
9(ag) — a¢, f(g,9) — q
- 9(9(f(g(a),a))) ITRT 2 ENMEF
g(g(f(g(a),a))) —7% 9(g(f(ag,q)))
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9(ag) — a5+ f(a,9) — ¢
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o B1: F = {f(,),90,a}lc>WT\ L1 = {f(f(a,s),9(t)) |
s,t € T(F)} =8I 5NFTAZHE
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o cfT-FEREMBRAAT—rT M (e-NFTA):
UTDOERDHAEEFINS NFTA
q—q
o REMABRAA— I MY (DFTA):
ZiAHE CHRAZFZRVWNFTA
(e HBIE 2 WY)
o T/ NFTA:
EEOER Z2FFRWIHLICDWT, dg.t —™ q
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o TL/DFTA DA :

A= ({q0,91}, {0, 1,not(),and(,),or(,)}, A, {q1})

0 — g0, 1 — q1, not(qo) — q1, not(q1) — qo,
and(qo, 90) — g0, and(qo,q1) — 4o,
and(q1,q90) — qo0, and(q1,q1) — q1,
or(q0,90) — 90, or(q0,91) — q1,
or(q1,90) — q1,» or(q1,91) — q1

- and(not(or(0,1)),or(1,not(0))) X ENE
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